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6-1 BISECTORS OF TRIANGLES
Perpendicular Bisectors lashesssssisd, you learned that a segment bisector is any
segment, line, or plane that intersects a segment at its midpoint. If a bisector is also
perpendicular to the segment, it is called a perpendicular bisector.
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Take a compass and straightedge and construct the perpendicular bisector of segment AB below.
Then, mark 4 points on the perpendicular bisector. Use the ruler to measure the distance from the
perpendicular bisector 167 ®s¢h endpoint (A and B). What did you notice?
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Theorems Perpendicular Bisectors J

5.1 Perpendicular Bisector Theorem

C
If a point is on the perpendicular bisector of a segment, then it is
equidistant from the endpoints of the segment.
l —l 1

Example: If CDis a L bisector of AB, then AC = BC. A o B

5.2 Gonverse of the Perpendicular Bisector Theorem

If a point is equidistant from the endpoints of a segment, then it
is on the perpendicular bisector of the segment.
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Example: If AE = BE, then Elies on £D, the | bisector of AB. \‘\ o/;/' 8

E

You should note that the perpendicular bisector of a side of a triangle does not necessarily pass

through a vertex of the triangle. For example, in AXYZ below, the perpendicular bisector of XY does
not pass through point Z.
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EXAMPLE 2: Use the picture to the right to find the following.
a. lfWX=253,YZ=224,and WZ = 25.3, fi_nd_)iY.
WY =L bisector of 2%
Y = midpornt of =ZX.

ZY =YX | X = zz.ql X
b. If@s the perpendicular bisector of XZ and WZ = 14.9, find WX. w Y L
Linawm | 4.
wx 2wz by (JJ)GH-.Q(\ <

4 bisector ¥hm. 6 X

c. If m is the perpendicular bisector of XZ, WX =4a - 15, and WZ =a + 12, find WX.
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